4600 West Schro	beder Drive					Hosp	oital Type: PSYCH	4	
Brown Deer, WI	53223						County: Milwau	kee	
414-865-2500						Analy	ysis Area: 2B-Mil	waukee Coun	ty
Overall Hospital	Utilization						Patient Discha	rge Status	
Total Discharges:		Average Le	ength of Stay (days):		6.2	Discharge S	<u>tatus</u>	<u>% E</u>	Discharges
Total Patient Days	s: 18,321	Average C	harge per Discharge:	9	\$20,400	Home or Sel			92.7%
Psychiatric Utiliz	zation					Other GMS			0.0%
Discharges:	2.162	Percent of	All Discharges:		73.2%	Skilled Nursi	ss Hospital (CAH)		0.0% 0.0%
Patient Days:	14,597		All Patient Days:		79.7%		Care Facility		0.0%
-					10.170		habilitation Facility		0.0%
AODA Utilization	<u>1</u>					Hospice	,		0.0%
Discharges:	790	Percent of	All Discharges:		26.7%	Other Institu	tion		0.0%
Patient Days:	3,701	Percent of	All Patient Days:		20.2%	Home Healt			0.0%
	Age Distribution		Se	x Distribution		Left Against	Medical Advice		5.5%
Age Group		tient Days		% Discharges	% Patient Days	Expired			0.0%
Under 15	19.5%	23.1%	Male	42.5%	<u>39.6%</u>	Discharge/ I Other	ran to Court/Law E	nforcmnt	0.0%
15 - 19	22.7%	25.3%	Female	57.5%	60.4%	Other	Race Distr	ibution	1.9%
20 - 24	10.7%	10.0%							
25 - 34	18.2%	15.0%	Expected Pa	ay Source Dis	tribution	Race	<u>% Disc</u>	<u>charges</u> <u>% Pa</u>	atient Days
35 - 44	14.2%	12.4%	Primary Payer		<u>% Discharges</u>	Amer.Ind/Ala	askan Native	0.8%	0.7%
45 - 54	8.2%	7.8%	Medicare		8.7%	Asian		0.7%	0.7%
55 - 64	5.1%	4.9%	Medicaid/BadgerCar	e	47.7%	Black/Africa		15.4%	14.7%
65 - 74	1.2%	1.3%	Other Government		0.4%	Native Hawa	aii/Pac.Isl.	0.3%	0.4%
75 - 84	0.2%	0.2%	Commercial or Priva	te Insurance	42.5%	White		72.8%	72.6%
85 & Over	0.0%	0.0%	Self-Pay Other or Unknown In		0.4%	Multiracial Declined		1.8% 2.3%	1.9% 2.7%
				Isurance	0.3%	Unavailable		2.3% 5.9%	6.4%
			APR-D	RG Specific I	Data	Unavailable		5.9%	0.47
					Average Length of S	tay	Average C	harge per Discl	harge
			Number of	This	All Wisconsin		This	All Wisconsir	
APR-DRG # and D	escription		Discharges	Facility	PSYCH	Ratio	Facility	PSYCH	Ratio
750 Schizophreni	a		146	6.6	10.2	0.65	\$22,166	\$21,562	1.03
751 Psychoses			1,086	7.0	6.3	1.11	\$22,835	\$17,928	1.27
753 Bipolar Disor	ders		490	6.4	6.4	1.00	\$21,312	\$17,283	1.23
754 Depression			131	5.8	4.4	1.32	\$18,983	\$13,066	1.45
755 Neuroses Other Than Depression			143	6.7	5.2	1.29	\$21,871	\$13,966	1.57
756 Acute Adjust	React Psychosocial Dysfun	ction	87	6.3	5.5	1.15	\$20,587	\$15,743	1.31
758 Behavioral di			45	6.9	6.3	1.10	\$22,221	\$16,728	1.33
759 Eating Disorders			*	*	19.7	*	*	\$61,433	ł
760 Other Mental Disorders			*	*	16.0	*	*	\$51,550	
770 Substance At	buse/Dependence, Left Aga	inst Medical	Advice 81	2.4	2.0	1.20	\$8,117	\$6,582	1.23
	e/Dependence		352	4.9	4.2	1.17	\$16,374	\$14,104	1.16
774 Cocaine Abus	se/Dependence		45	5.1	4.3	1.19	\$16,992	\$13,745	1.24
775 Aleehal Abus	o/Donondonoo		207	1 10	2.0	1 00	¢40 E40	¢10 040	1 25

775 Alcohol Abuse/Dependence

N/A - Zero Discharges reported

297 * 1 through 4 Discharges reported 4.9

3.8

1.29

\$16,546

\$12,243

033 Fond du Lac Co 459 E 1st St	ounty Health C	are Ce	nter					Hosr	oital Type: PSYCI	4	
Fond du Lac, WI 549	335							103	County: Fond d		
920-929-3500								Anal	ysis Area: 3-Lake		
Overall Hospital Util	lization								Patient Discha		
Total Discharges:		719	Average L	ength of Stay (days):		5.8		<u>Discharge S</u>	<u>tatus</u>	<u>% D</u>	ischarges
Total Patient Days:		4,139	Average C	harge per Discharge	:	\$5,524		Home or Se			92.8%
Psychiatric Utilizatio	on							Other GMS	Hospital ss Hospital (CAH)		0.0% 0.0%
Discharges:		480	Percent of	All Discharges:		66.8%		Skilled Nurs			0.0%
Patient Days:		3,273		All Patient Days:		79.1%			Care Facility		0.1%
AODA Utilization									habilitation Facility		0.0%
								Hospice			0.0%
Discharges: Patient Days:		234		All Discharges: All Patient Days:		32.5%		Other Institu Home Healt			0.0%
•		820	Fercent of	-		19.8%			Medical Advice		0.0% 3.8%
	e Distribution	-			<u>Sex Distributio</u>	_		Expired			0.0%
Age Group	% Discharges	<u>% Pat</u>	<u>ient Days</u>	<u>Sex</u>	<u>% Discharges</u>		atient Days		ran to Court/Law E	nforcmnt	0.0%
Under 15	0.0%		0.0%	Male	57.0%		55.6%	Other			2.9%
15 - 19 20 - 24	5.0% 11.3%		4.6% 10.9%	Female	43.0%		44.4%		Race Distr	<u>ibution</u>	
20 - 24 25 - 34	32.4%		31.8%	Expected	Pay Source Di	stributio	<u>n</u>	Race	% Dis	charges % Pat	tient Days
35 - 44	24.1%		21.4%	Primary Payer		%	Discharges	Amer.Ind/Ala	askan Native	1.9%	1.4%
45 - 54	13.2%		11.9%	Medicare		<u></u>	21.1%	Asian		1.1%	0.9%
55 - 64	11.5%		15.0%	Medicaid/Badger	Care		44.2%	Black/Africa	n Amer.	8.5%	8.1%
65 - 74	1.7%		3.1%	Other Governme			0.4%	Native Hawa	aii/Pac.Isl.	0.3%	0.3%
75 - 84	0.8%		1.1%	Commercial or P	rivate Insurance		18.9%	White		88.2%	89.3%
85 & Over	0.0%		0.0%	Self-Pay			15.3%	Multiracial		0.0%	0.0%
				Other or Unknow	n insurance		0.0%	Declined		0.0% 0.0%	0.0%
				AP	R-DRG Specific	Data		Unavailable		0.0%	0.0%
						Average	Length of S	tay	Average C	harge per Disch	narge
				Number of			Visconsin		This	All Wisconsin	
APR-DRG # and Desci	ription			Discharges			SYCH	Ratio	Facility	PSYCH	Ratio
750 Schizophrenia				108	10.1		10.2	0.99	\$9,696	\$21,562	0.45
751 Psychoses				158	6.7		6.3	1.06	\$6,306	\$17,928	0.35
753 Bipolar Disorders	5			173	5.5		6.4	0.86	\$5,354	\$17,283	0.31
754 Depression	Then Dennesis	-		8	3.5		4.4 5.2	0.80	\$3,417	\$13,066	0.26
755 Neuroses Other	•		otion	9 7	3.7 3.0		5.2 5.5	0.71 0.55	\$3,571	\$13,966 \$15,742	0.26
756 Acute Adjust Rea758 Behavioral disord	-	Dysium	CUON						\$2,925	\$15,743 \$16,729	0.19
759 Eating Disorders	2012			6 0	6.0 N/A		6.3 19.7	0.95 N/A	\$5,850 *	\$16,728 \$61,433	0.35 N/A
760 Other Mental Dis	orders			*	IN/F	۱ ۲	19.7 16.0	N/A *	*	\$01,433 \$51,550	IN/A *
770 Substance Abuse		eft Ana	inst Medical	Advice 11	2.6		2.0	1.30	\$2,488	\$6,582	0.38
773 Opioid Abuse/De		Lon Aya		48	3.9		2.0 4.2	0.93	\$3,698	\$0,382 \$14,104	0.38
774 Cocaine Abuse/E				40	5.5		4.2	1.28	\$5,365	\$14,104 \$13,745	0.20
775 Alcohol Abuse/D	-			140	3.2		4.5 3.8	0.84	\$3,094	\$12,243	0.25

140 * 1 through 4 Discharges reported

172 Bellin Psychia										
301 E St Joseph A							Hosp	oital Type: PSYCI		
Green Bay, WI 543	301							County: Brown		
920-433-3630							Anal	ysis Area: 4-Nor	theastern	
Overall Hospital L	<u> Jtilization</u>							<u>Patient Discha</u>	<u>rge Status</u>	
Total Discharges:		2,123		ength of Stay (days):		5.0	Discharge S		<u>% D</u>	<u>)ischarges</u>
Total Patient Days	: 1	0,607	Average C	harge per Discharge	:	\$11,872	Home or Se			92.6%
Psychiatric Utiliza	ation						Other GMS Critical Acce	ess Hospital (CAH)		1.1% 0.0%
Discharges:		1.588	Percent of	All Discharges:		74.8%	Skilled Nurs			0.8%
Patient Days:		8,785		All Patient Days:		82.8%		e Care Facility		0.0%
AODA Utilization							•	habilitation Facility		0.2%
		545	Demonstrat			04.00/	Hospice	4		0.0%
Discharges: Patient Days:		515 1,724		All Discharges: All Patient Days:		24.3% 16.3%	Other Institu Home Healt			0.0% 0.1%
-		1,724		-	Case Diatella stian			Medical Advice		4.7%
-	Age Distribution			-	Sex Distribution		Expired			0.0%
Age Group	<u>% Discharges</u>	<u>% Pat</u>	tient Days	<u>Sex</u>	% Discharges	<u>% Patient Days</u>	Discharge/T	ran to Court/Law E	nforcmnt	0.1%
Under 15 15 - 19	18.6% 19.9%		22.0%	Male Formale	43.8%	40.2% 59.8%				0.4%
20 - 24	8.9%		21.5% 8.0%	Female	56.2%	59.6%		Race Distr	ribution	
25 - 34	15.5%		12.8%	Expected	I Pay Source Dis	tribution	<u>Race</u>	<u>% Dis</u>	<u>charges</u> <u>% Pa</u>	tient Days
35 - 44	13.8%		11.3%	Primary Payer		% Discharges	Amer.Ind/Al	askan Native	6.0%	5.7%
45 - 54	10.2%		10.4%	Medicare		13.4%	Asian		0.7%	0.8%
55 - 64	9.9%		9.2%	Medicaid/Badger		42.6%			4.6%	4.5%
65 - 74	2.4%		4.2%	Other Governmer		3.8%		aii/Pac.Isl.	0.3%	0.3%
75 - 84 85 & Over	0.5%		0.6%	Commercial or Pr	rivate Insurance	37.2%			77.8%	76.9%
oo a Over	0.1%		0.1%	Self-Pay Other or Unknow	n Insurance	2.6% 0.4%			0.0% 0.5%	0.0% 0.3%
					in modificities	0.470	Unavailable		10.1%	11.4%
				API	R-DRG Specific I		-			
						Average Length of	Stay	-	harge per Disch	-
				Number of	This	All Wisconsin	Datia	This	All Wisconsin	
APR-DRG # and De				Discharges		PSYCH	Ratio	Facility	PSYCH	Ratio
750 Schizophrenia				87	7.5	10.2	0.74	\$16,528	\$21,562	0.77
751 Psychoses 753 Bipolar Disord	0.10			620 622	5.7 5.4	6.3 6.4	0.90 0.84	\$13,434 \$13,070	\$17,928 \$17,283	0.75 0.76
753 Bipolai Disord	ers			121	4.9	4.4	1.11	\$13,070	\$17,283 \$13,066	0.70
754 Depression 755 Neuroses Othe	er Than Depression			63	5.2	5.2	1.00	\$12,229	\$13,966	0.81
756 Acute Adjust R	-		ction	26	4.1	5.5	0.75	\$10,015	\$15,743	0.64
758 Behavioral dis	-	- yorun	0.011	23	5.2	6.3	0.83	\$12,697	\$16,728	0.76
759 Eating Disorde				20	N/A	19.7	N/A	*	\$61,433	N/A
760 Other Mental				11	4.2	16.0	0.26	\$9,817	\$51,550	0.19
770 Substance Abi		eft Ada	inst Medical		1.6	2.0	0.80	\$3,868	\$6,582	0.59
773 Opioid Abuse/				76	3.6	4.2	0.86	\$8,500	\$14,104	0.60
774 Cocaine Abuse				39	3.5	4.3	0.81	\$8,233	\$13,745	0.60
775 Alcohol Abuse				351	3.4	3.8	0.89	\$8,078	\$12,243	0.66

3150 Gershwin Dri	ve					Hosp	ital Type: PSY	′СН		
Green Bay, WI 543	11						County: Brow	wn		
920-391-4700						Anal	ysis Area: 4-N	ortheastern		
Overall Hospital U	tilization						Patient Disc	harge Statu	IS	
Total Discharges:	7	07 Average L	ength of Stay (days):		5.8	Discharge S	tatus		% Dis	charges
Total Patient Days:	4,1	30 Average C	Charge per Discharge:		\$5,420	Home or Se				100.0%
Psychiatric Utilizat	tion					Other GMS				0.0%
							ss Hospital (CAI	H)		0.0%
Discharges:			f All Discharges:		99.9%	Skilled Nurs				0.0%
Patient Days:	4,1	10 Percent of	f All Patient Days:		99.5%		Care Facility			0.0%
AODA Utilization							habilitation Facil	ity		0.0%
						Hospice				0.0%
Discharges:			f All Discharges:		0.0%	Other Institu				0.0%
Patient Days:		0 Percent o	f All Patient Days:		0.0%	Home Health Service Left Against Medical Advice				0.0%
<u>A</u>	<u>ge Distribution</u>		<u>S</u>	ex Distribution		-	Medical Advice			0.0%
Age Group	% Discharges %	Patient Days	Sex	% Discharges	% Patient Days	Expired	ran to Court/Law	Enforomat		0.0%
Under 15	0.0%	0.0%	Male	56.2%	56.5%	Other		Enlorenni		0.0% 0.0%
15 - 19	4.2%	2.3%	Female	43.8%	43.5%	Other	Race Di	stribution		0.0%
20 - 24	11.2%	10.6%	E			_				_
25 - 34	30.0%	27.3%	Expected	Pay Source Dist	ribution	Race	<u>% [</u>	Discharges	<u>% Patie</u>	
35 - 44	21.6%	24.9%	Primary Payer		% Discharges	Amer.Ind/Ala	askan Native	11.3%		10.0%
45 - 54	17.4%	16.3%	Medicare		14.1%	Asian		2.3%		4.5%
55 - 64	11.7%	12.2%	Medicaid/BadgerCa		27.2%	Black/Africa	n Amer.	12.4%		9.5%
65 - 74	2.7%	4.8%	Other Government		3.3%	Native Hawa	aii/Pac.Isl.	0.3%		0.1%
75 - 84	1.0%	1.4%	Commercial or Priv	ate Insurance	49.4%	White		73.7%		75.8%
85 & Over	0.1%	0.1%	Self-Pay		6.1%	Multiracial		0.0%		0.0%
			Other or Unknown	Insurance	0.0%	Declined		0.0%		0.0%
					Note:	Unavailable		0.0%		0.0%
				DRG Specific E	verage Length of St	av	Average	Charge per	Discha	rae
			Number of	This	All Wisconsin		This	All Wis		3*
APR-DRG # and Des	cription		Discharges	Facility	PSYCH	Ratio	Facility			Ratio
750 Schizophrenia	1		178	9.8	10.2	0.96	\$7,72		,562	0.36
751 Psychoses			75	6.6	63	1.05	\$6.57		928	0.00

		A	verage Length of S	tay	Average Cl	narge per Discha	arge
APR-DRG # and Description	Number of Discharges	This Facility	All Wisconsin PSYCH	Ratio	This Facility	All Wisconsin PSYCH	Ratio
750 Schizophrenia	178	9.8	10.2	0.96	\$7,720	\$21,562	0.36
751 Psychoses	75	6.6	6.3	1.05	\$6,572	\$17,928	0.37
753 Bipolar Disorders	143	5.8	6.4	0.91	\$5,784	\$17,283	0.33
754 Depression	190	3.6	4.4	0.82	\$3,943	\$13,066	0.30
755 Neuroses Other Than Depression	102	3.0	5.2	0.58	\$3,075	\$13,966	0.22
756 Acute Adjust React Psychosocial Dysfunction	11	2.5	5.5	0.45	\$2,468	\$15,743	0.16
758 Behavioral disorders	*	*	6.3	*	*	\$16,728	*
759 Eating Disorders	0	N/A	19.7	N/A	*	\$61,433	N/A
760 Other Mental Disorders	0	N/A	16.0	N/A	*	\$51,550	N/A
770 Substance Abuse/Dependence, Left Against Medical Advice	0	N/A	2.0	N/A	*	\$6,582	N/A
773 Opioid Abuse/Dependence	0	N/A	4.2	N/A	*	\$14,104	N/A
774 Cocaine Abuse/Dependence	0	N/A	4.3	N/A	*	\$13,745	N/A
775 Alcohol Abuse/Dependence	0	N/A	3.8	N/A	*	\$12,243	N/A

321 Willow Creek B	ehavioral Heal	th									
1351 Ontario Road							Hosp	ital Type: PSY	СН		
Green Bay, WI 5431	11							County: Brow	/n		
							Analy	/sis Area: 4-No	ortheasterr	n	
Overall Hospital Uti	<u>ilization</u>							Patient Disch	narge Stati	us	
Total Discharges:		2,196		ength of Stay (days):		7.7	Discharge S	<u>tatus</u>		<u>% Dis</u>	scharges
Total Patient Days:		16,851	Average C	harge per Discharge:	\$	15,367	Home or Sel				91.7%
Psychiatric Utilizati	ion						Other GMS		I)		0.7%
			Demonstra			00 70/		ss Hospital (CAF	1)		0.0%
Discharges:		2,190		All Discharges:		99.7%	Skilled Nursi				0.0%
Patient Days:		16,833	Percent of	All Patient Days:		99.9%		Care Facility	h.		0.0%
AODA Utilization							Hospice		Ly		0.2% 0.0%
Discharges:		6	Percent of	All Discharges:		0.3%	Other Institu	tion			0.0%
Patient Days:		18		All Patient Days:		0.1%	Home Healt				0.0%
•	a Distribution		i oroont or	•	ov Diotribution	0.170		Medical Advice			4.7%
	ge Distribution				ex Distribution		Expired				0.0%
Age Group	% Discharges	<u>% Pa</u>	<u>tient Days</u>	<u>Sex</u>	% Discharges	<u>% Patient Days</u>		ran to Court/Law	Enforcmnt		0.9%
Under 15	23.0%		28.6%	Male	37.0%	35.0%	Other				1.6%
15 - 19	26.9%		28.6%	Female	63.0%	65.0%		Race Dis	<u>stribution</u>		
20 - 24	8.4%		6.6%	Expected F	Pay Source Dist	ribution	Race	% D	ischarges	% Patie	ent Days
25 - 34 35 - 44	15.5% 12.5%		12.3% 10.9%	_				askan Native		<u>701 aux</u>	2.0%
35 - 44 45 - 54	6.8%		6.5%	<u>Primary Payer</u> Medicare		<u>% Discharges</u> 9.4%	Amer.ind/Ala	askan Nauve	2.0% 0.3%		2.0%
45 - 54 55 - 64	4.9%		0.5% 4.7%	Medicaid/BadgerCa	aro	9.4% 49.7%	Black/Africa	Amor	0.3 <i>%</i> 1.5%		1.5%
55 - 64 65 - 74	4.9%		4.7%	Other Government		49.7% 4.1%	Native Hawa		0.0%		0.0%
75 - 84	0.4%		0.4%	Commercial or Priv		36.7%	White	ui/1 ac.151.	96.0%		96.1%
85 & Over	0.1%		0.4%	Self-Pay		0.1%	Multiracial		0.0%		0.0%
	0.170		0.170	Other or Unknown	Insurance	0.0%	Declined		0.0%		0.0%
						0.070	Unavailable		0.1%		0.1%
				APR-	DRG Specific D						
						verage Length of St	ay	Average	Charge per		rge
	· <i>.</i> .			Number of	This	All Wisconsin	Datia	This	All Wis		Datia
APR-DRG # and Desc	cription			Discharges	Facility	PSYCH	Ratio	Facility	PSY		Ratio
750 Schizophrenia				144	9.4	10.2	0.92	\$18,758		,562	0.87
751 Psychoses				1,355	7.4	6.3	1.17	\$14,834		,928	0.83
	753 Bipolar Disorders 638		8.1	6.4	1.27	\$16,176		,283	0.94		
754 Depression			17	4.6	4.4	1.05	\$9,387		8,066	0.72	
755 Neuroses Other Than Depression			22	6.1	5.2	1.17	\$12,304	\$13	8,966	0.88	

4.8

*

*

*

*

*

N/A

N/A

5.5

6.3

19.7

16.0

2.0

4.2

4.3

3.8

0.87

*

*

*

*

N/A

N/A

*

\$9,763

*

*

*

*

*

*

*

\$15,743

\$16,728

\$61,433

\$51,550

\$14,104

\$13,745

\$12,243

\$6,582

0.62

*

*

*

*

*

N/A

N/A

N/A - Zero Discharges reported

758 Behavioral disorders

760 Other Mental Disorders

773 Opioid Abuse/Dependence

774 Cocaine Abuse/Dependence

775 Alcohol Abuse/Dependence

759 Eating Disorders

756 Acute Adjust React Psychosocial Dysfunction

770 Substance Abuse/Dependence, Left Against Medical Advice

*
* 1 through 4 Discharges reported

6

*

*

*

*

0

0

1600 N Chestnut A	ve						Hosp	oital Type: PSYCH	4	
Marshfield, WI 544	49							County: Wood		
715-384-2188							Anal	ysis Area: 6-Nort	h Central	
Overall Hospital U	tilization							Patient Discha	rge Status	
Total Discharges:		309		ength of Stay (days):		9.1	<u>Discharge</u> S		<u>% D</u>)ischarges
Total Patient Days:		2,802	Average Cl	harge per Discharge:	\$	14,483	Home or Se			80.6%
Psychiatric Utiliza	<u>tion</u>						Other GMS	Hospital ess Hospital (CAH)		2.3% 0.0%
Discharges:		306	Percent of	All Discharges:		99.0%	Skilled Nurs			0.0%
Patient Days:		2,773		All Patient Days:		99.0%		e Care Facility		0.0%
AODA Utilization								habilitation Facility		0.3%
AODA Utilization							Hospice			0.0%
Discharges:		3		All Discharges:		1.0%	Other Institu			0.0%
Patient Days:		29	Percent of	All Patient Days:		1.0%	Home Healt	Medical Advice		0.0%
<u> </u>	Age Distribution	-		<u>S</u>	ex Distribution		Expired	Medical Advice		0.0% 0.0%
Age Group	<u>% Discharges</u>	<u>% Pat</u>	tient Days	<u>Sex</u>	<u>% Discharges</u>	<u>% Patient Days</u>		ran to Court/Law E	nforcmnt	1.9%
Under 15	0.0%		0.0%	Male	44.3%	43.3%	Other			14.9%
15 - 19	7.1%		3.7%	Female	55.7%	56.7%		Race Distr	<u>ibution</u>	
20 - 24 25 - 34	15.5% 22.3%		11.3% 17.4%	Expected	Pay Source Dist	ribution	Race	% Dise	charges % Pat	tient Days
35 - 44	24.3%		20.2%	Primary Payer	-	% Discharges		askan Native	1.0%	0.6%
45 - 54	11.7%		13.0%	Medicare		25.2%	Asian		0.6%	1.1%
55 - 64	11.0%		15.2%	Medicaid/BadgerC	are	51.8%	Black/Africa	n Amer.	1.0%	0.6%
65 - 74	6.8%		16.8%	Other Government		0.6%	Native Hawa	aii/Pac.Isl.	0.0%	0.0%
75 - 84	1.0%		1.9%	Commercial or Priv	vate Insurance	18.4%	White		96.4%	97.1%
85 & Over	0.3%		0.5%	Self-Pay	I	3.9%	Multiracial		1.0%	0.6%
				Other or Unknown	Insurance	0.0%	Declined		0.0%	0.0%
				APR	-DRG Specific D	ata	Unavailable		0.0%	0.0%
						verage Length of S	tay	Average C	harge per Disch	narge
				Number of	This	All Wisconsin		This	All Wisconsin	
APR-DRG # and Des	scription			Discharges	Facility	PSYCH	Ratio	Facility	PSYCH	Ratio
750 Schizophrenia				37	16.1	10.2	1.58	\$25,478	\$21,562	1.18
751 Psychoses				134	9.2	6.3	1.46	\$14,718	\$17,928	0.82
753 Bipolar Disorde	ers			61	8.6	6.4	1.34	\$13,817	\$17,283	0.80
754 Depression				55	5.5	4.4	1.25	\$8,896	\$13,066	0.68
755 Neuroses Othe	•			12	7.1	5.2	1.37	\$11,556	\$13,966	0.83
756 Acute Adjust R	-	Dystun	ction	^ +	^ *	5.5	*		\$15,743	- +
758 Behavioral disc				*	×	6.3			\$16,728	×
759 Eating Disorder				0	N/A *	19.7	N/A	*	\$61,433 \$51,550	N/A
760 Other Mental D		oft A a a	inct Mediael			16.0		*	\$51,550 \$6,582	
	se/Dependence, I	Len Aga	inst weatcal		N/A	2.0 4.2	N/A N/A	*	\$6,582 \$14 104	N/A
73 Opioid Abuse/Dependence74 Cocaine Abuse/Dependence			0 0	N/A N/A	4.2	N/A N/A	*	\$14,104 \$13,745	N/A N/A	
77/ Cocoino Abuso										

327 Miramont Be 3169 Deming Wa									Hosp	ital Type: PSYC	н	
Middleton, WI 53	-									County: Dane		
608-716-8288									Analy	/sis Area: 1-Sou	Ithern	
Overall Hospital	Utilization								-	Patient Discha	rge Status	
Total Discharges	:	91	Average Le	ength of Stay (days):	:		7.6		Discharge St	<u>tatus</u>	<u>% E</u>	Discharges
Total Patient Day	/s:	690	Average C	harge per Discharge	e:	\$	15,316		Home or Sel			86.8%
Psychiatric Utiliz	<u>zation</u>								Other GMS I	Hospital ss Hospital (CAH)		1.1%
Discharges:		88	Percent of	All Discharges:			96.7%		Skilled Nursi			0.0% 0.0%
Patient Days:		651		All Patient Days:			94.3%			Care Facility		2.2%
-				,			•			habilitation Facility		0.0%
AODA Utilization	<u>n</u>								Hospice			1.1%
Discharges:		1		All Discharges:			1.1%		Other Institut			0.0%
Patient Days:		6	Percent of	All Patient Days:			0.9%		Home Health			0.0%
	Age Distribution				Sex Dist	tribution			-	Medical Advice		1.1%
Age Group	% Discharges	<u>% Pa</u>	tient Days	<u>Sex</u>	<u>%</u> Dis	<u>charges</u>	% Patient Da	ys	Expired	ran to Court/Law E	nforcmnt	0.0% 1.1%
Under 15	0.0%		0.0%	Male		51.6%	48.4		Other			6.6%
15 - 19	9.9%		14.3%	Female		48.4%	51.6	6%		Race Dist	<u>ribution</u>	0.070
20 - 24	23.1%		16.4%	Expected	d Pav So	urce Dist	ribution		Race	% Dis	charges % Pa	atient Days
25 - 34 35 - 44	29.7% 20.9%		30.1% 24.6%	Primary Payer			% Discharge	~~	Amer.Ind/Ala		0.0%	0.0%
45 - 54	8.8%		8.6%	Medicare			<u>/// Discharge</u> 17.6		Asian	askall malive	0.0%	0.0%
55 - 64	5.5%		4.5%	Medicaid/Badger	Care		45.1		Black/Africar	n Amer.	8.8%	5.7%
65 - 74	2.2%		1.4%	Other Governme			2.2		Native Hawa		0.0%	0.0%
75 - 84	0.0%		0.0%	Commercial or P	rivate Insi	urance	33.0		White		82.4%	84.3%
85 & Over	0.0%		0.0%	Self-Pay			2.2		Multiracial		0.0%	0.0%
				Other or Unknow	n Insuran/	се	0.0)%	Declined		0.0%	0.0%
				ΔΡ		Specific D	lata		Unavailable		8.8%	10.0%
						•	verage Length c	of Stay	1	Average C	harge per Disc	harge
				Number of	:	This	All Wisconsin	า		This	All Wisconsir	
APR-DRG # and D	Description			Discharges	6	Facility	PSYCH		Ratio	Facility	PSYCH	Ratio
750 Schizophren	ia			12		8.9	10.2		0.87	\$18,012	\$21,562	0.84
751 Psychoses				36		7.6	6.3		1.21	\$15,262	\$17,928	0.85
753 Bipolar Disor	rders			22		9.0	6.4		1.41	\$18,272	\$17,283	1.06
754 Depression				*		*	4.4		*	*	\$13,066	*
	ther Than Depressior			6		3.3	5.2		0.63	\$6,733	\$13,966	0.48
	React Psychosocial	Dysfun	ction	9		3.9	5.5		0.71	\$7,856	\$15,743	0.50
758 Behavioral d				0		N/A	6.3		N/A	*	\$16,728	N/A
759 Eating Disord				0		N/A	19.7		N/A	*	\$61,433	N/A
760 Other Menta				0		N/A	16.0		N/A	*	\$51,550	N/A
770 Substance Abuse/Dependence, Left Against Medical Advice 0				N/A	2.0		N/A	*	\$6,582	N/A		
773 Opioid Abuse/Dependence 0				N/A	4.2		N/A	*	\$14,104	N/A		
774 Cocaine Abu				0		N/A	4.3		N/A	*	\$13,745	N/A
775 Alcohol Abus				0 * 1 through 4 Disch		N/A	3.8		N/A	Î	\$12,243	N/A

147 Milwaukee County Behavioral Health Complex

9455 W Watertown Plank Rd

Milwaukee, WI 53226

414-257-6995

 Overall Hospital Utilization

 Total Discharges:
 902
 Average Length of Stay (days):

 Total Patient Days:
 11,617
 Average Charge per Discharge:

 Psychiatric Utilization
 11,617
 Average Charge per Discharge:

Discharges: Patient Days:

AODA Utilization

Discharges:

Patient Days:

85 & Over

Age Distribution	
% Discharges	<u>% Patient Da</u>
17.8%	6.8
19.6%	9.1
10.4%	9.6
20.5%	24.8
13.3%	17.0
6.9%	7.8
8.4%	16.5
2.3%	6.
0.7%	1.1
	<u>% Discharges</u> 17.8% 19.6% 10.4% 20.5% 13.3% 6.9% 8.4% 2.3%

0.0%

Average Charge per Discharge: \$23,752 Percent of All Discharges: 95.5% 861 Percent of All Patient Days: 97.0% 11,274 Percent of All Discharges: 32 3.5% 219 Percent of All Patient Days: 1.9% **Sex Distribution** % Discharges Sex % Patient Days <u>ays</u> .8% Male 50.8% 51.5% .7% Female 49.2% 48.5% .6% **Expected Pay Source Distribution** .8% .6% Primary Payer % Discharges .8% Medicare 21.5% .5% Medicaid/BadgerCare 56.8% .1% Other Government 0.4% 1.1% Commercial or Private Insurance 8.6% Self-Pay 0.0% 12.6% Other or Unknown Insurance 0.0%

APR-DRG Specific Data

12.9

		A	verage Length of S	tay	Average C	harge per Discha	arge
APR-DRG # and Description	Number of Discharges	This Facility	All Wisconsin PSYCH	Ratio	This Facility	All Wisconsin PSYCH	Ratio
750 Schizophrenia	312	19.7	10.2	1.93	\$35,551	\$21,562	1.65
751 Psychoses	152	7.8	6.3	1.24	\$15,974	\$17,928	0.89
753 Bipolar Disorders	191	13.3	6.4	2.08	\$21,842	\$17,283	1.26
754 Depression	67	4.2	4.4	0.95	\$9,544	\$13,066	0.73
755 Neuroses Other Than Depression	77	5.2	5.2	1.00	\$12,074	\$13,966	0.86
756 Acute Adjust React Psychosocial Dysfunction	12	7.5	5.5	1.36	\$15,093	\$15,743	0.96
758 Behavioral disorders	23	8.4	6.3	1.33	\$11,029	\$16,728	0.66
759 Eating Disorders	0	N/A	19.7	N/A	*	\$61,433	N/A
760 Other Mental Disorders	5	7.6	16.0	0.48	\$14,810	\$51,550	0.29
770 Substance Abuse/Dependence, Left Against Medical Advice	0	N/A	2.0	N/A	*	\$6,582	N/A
773 Opioid Abuse/Dependence	*	*	4.2	*	*	\$14,104	*
774 Cocaine Abuse/Dependence	*	*	4.3	*	*	\$13,745	*
775 Alcohol Abuse/Dependence	5	3.8	3.8	1.00	\$7,772	\$12,243	0.63

N/A - Zero Discharges reported

* 1 through 4 Discharges reported

Hospital Type: PSYCH

County: Milwaukee

Analysis Area: 2B-Milwaukee County

Patient Discharge Status

Discharge Status	% Discharges						
Home or Self-Care	90.6%						
Other GMS Hospital	0.1%						
Critical Access Hospital (CAH)	0.0%						
Skilled Nursing Facility	0.1%						
Intermediate Care Facility	0.0%						
Inpatient Rehabilitation Facility	0.0%						
Hospice	0.0%						
Other Institution	0.0%						
Home Health Service	0.1%						
Left Against Medical Advice	0.7%						
Expired	0.0%						
Discharge/Tran to Court/Law Enforcmnt	0.9%						
Other	7.5%						
Race Distribution							

Race	% Discharges	<u>% Patient Days</u>
Amer.Ind/Alaskan Native	e 0.6%	0.3%
Asian	1.2%	1.2%
Black/African Amer.	65.7%	64.8%
Native Hawaii/Pac.Isl.	0.0%	0.0%
White	28.8%	31.7%
Multiracial	0.0%	0.0%
Declined	0.0%	0.0%
Unavailable	3.7%	2.0%

099 Rogers Memorial	l Hospital Inc								
34700 Valley Road						Hosp	oital Type: PSYC⊢	ł	
Oconomowoc, WI 53	066						County: Waukes	sha	
262-646-4411						Anal	ysis Area: 2A-Sou	utheastern	
Overall Hospital Utiliz	zation						Patient Dischar	ge Status	
Total Discharges:	2,65		igth of Stay (days):		9.1	Discharge S		<u>% E</u>	<u>Discharges</u>
Total Patient Days:	24,13	7 Average Cha	arge per Discharge:	:	\$29,911	Home or Se			94.5%
Psychiatric Utilization	<u>n</u>					Other GMS Critical Acce	Hospital ess Hospital (CAH)		0.0% 0.0%
Discharges:	2,08	9 Percent of A	Il Discharges:		78.6%	Skilled Nurs			0.0%
Patient Days:	21,51		ll Patient Days:		89.1%		Intermediate Care Facility		
						Inpatient Re	habilitation Facility		0.0% 0.0%
AODA Utilization		_				Hospice			0.0%
Discharges:	56		Il Discharges:		21.3%	Other Institu			0.0%
Patient Days:	2,61	9 Percent of A	ll Patient Days:		10.9%	Home Healt			0.0%
<u>Age</u>	<u>e Distribution</u>		<u>Se</u>	x Distribution		Expired	Medical Advice		2.7% 0.0%
Age Group		Patient Days		% Discharges	<u>% Patient Days</u>		ran to Court/Law Er	oforcmnt	0.0%
Under 15	19.5%	24.1%	Male	35.1%	25.1%	Other			2.8%
15 - 19	26.4%	31.2%	Female	64.8%	74.9%		Race Distri	ibution	
20 - 24 25 - 34	11.9% 16.7%	10.9% 13.1%	Expected Pa	ay Source Dis	tribution	Race	% Disc	harges <u>% Pa</u>	atient Days
25 - 54 35 - 44	11.3%	9.3%	Primary Payer	-	% Discharges		askan Native	0.6%	0.5%
45 - 54	7.5%	6.2%	Medicare		7.5%	Asian		1.5%	2.3%
55 - 64	4.6%	3.5%	Medicaid/BadgerCar	e	28.8%	Black/Africa	n Amer.	3.8%	2.7%
65 - 74	1.7%	1.4%	Other Government		0.5%	Native Hawa	aii/Pac.Isl.	0.2%	0.1%
75 - 84	0.4%	0.3%	Commercial or Priva	te Insurance	62.1%	White		85.5%	86.5%
85 & Over	0.0%	0.0%	Self-Pay		0.8%	Multiracial		1.5%	1.7%
			Other or Unknown Ir	isurance	0.5%	Declined		2.3%	2.1%
				ORG Specific I	Data	Unavailable		4.6%	4.1%
					Average Length of S	tay	Average Ch	arge per Discl	harge
			Number of	This	All Wisconsin	2	This	All Wisconsir	-
APR-DRG # and Descrip	ption		Discharges	Facility	PSYCH	Ratio	Facility	PSYCH	Ratio
750 Schizophrenia			51	9.0	10.2	0.88	\$30,132	\$21,562	1.40
751 Psychoses			1,081	7.8	6.3	1.24	\$25,281	\$17,928	1.41
753 Bipolar Disorders			270	6.2	6.4	0.97	\$20,778	\$17,283	1.20
754 Depression			78	7.7	4.4	1.75	\$25,257	\$13,066	1.93
755 Neuroses Other T	han Depression		78	9.0	5.2	1.73	\$29,966	\$13,966	2.15
756 Acute Adjust Read		unction	27	5.8	5.5	1.05	\$19,111	\$15,743	1.21
758 Behavioral disorde	ers		12	5.7	6.3	0.90	\$18,199	\$16,728	1.09
759 Eating Disorders			307	19.8	19.7	1.01	\$61,854	\$61,433	1.01
760 Other Mental Diso			182	18.3	16.0	1.14	\$60,111	\$51,550	1.17
770 Substance Abuse/		gainst Medical A		2.1	2.0	1.05	\$7,717	\$6,582	1.17
773 Opioid Abuse/Dep			189	4.8	4.2	1.14	\$16,662	\$14,104	1.18
774 Cocaine Abuse/De	ependence		16	5.0	4.3	1.16	\$16,837	\$13,745	1.22

775 Alcohol Abuse/Dependence

323
* 1 through 4 Discharges reported

4.7

3.8

1.24

\$16,064

\$12,243

140 Waukesha Cou	inty Mental Health C	enter								
1501 Airport Rd						Hosp	oital Type: PSYC	Н		
Waukesha, WI 5318	38					County: Waukesha				
262-548-7957						Analy	ysis Area: 2A-So	outheastern	tern	
Overall Hospital Ut	<u>ilization</u>						Patient Discha	rge Status		
Total Discharges:	54		ength of Stay (days):		10.1	Discharge S	<u>tatus</u>	<u>% C</u>	Discharges	
Total Patient Days:	5,52	0 Average C	Charge per Discharge: \$1		11,284	Home or Self-Care			79.3% 2.7%	
Psychiatric Utilizati	ion			Other GMS Hospital						
-		D Porcont of	All Discharges:		01.00/		ss Hospital (CAH)		0.0%	
Discharges: Patient Days:	499 5.15		All Patient Days:	91.2%Skilled Nursing Facility93.4%Intermediate Care Facility					0.0%	
Talleni Days.	5,15		All I duent Days.		93.470		habilitation Facility		0.0% 0.0%	
AODA Utilization						Hospice	nabilitation r doility		0.0%	
Discharges:	4.	4 Percent of	All Discharges:		8.0%	Other Institu	tion		0.0%	
Patient Days:	33		All Patient Days:		6.0%	Home Healt	n Service		0.0%	
Δ	ge Distribution		Se	ex Distribution		Left Against	Medical Advice		0.0%	
		Patient Days		% Discharges	% Patient Days	Expired			0.0%	
<u>Age Group</u> Under 15	0.0%		<u>Sex</u> Male	56.1%	45.4%		ran to Court/Law E	nforcmnt	7.9%	
15 - 19	4.8%	3.9%	Female	43.9%	43.4 <i>%</i> 54.6%	Other	Dees Dist	vibution	10.1%	
20 - 24	16.8%	12.1%					Race Dist	ribution		
25 - 34	25.6%	27.6%	Expected P	Pay Source Dist	<u>ribution</u>	Race	<u>% Dis</u>	<u>charges</u> <u>% Pa</u>	atient Days	
35 - 44	22.9%	23.4%	Primary Payer		% Discharges	Amer.Ind/Ala	askan Native	0.0%	0.0%	
45 - 54	13.2%	13.0%	Medicare		28.2%	Asian		1.8%	1.0%	
55 - 64	12.6%	12.8%	Medicaid/BadgerCa	are	36.0%	Black/Africa	n Amer.	8.8%	9.1%	
65 - 74	2.9%	1.5%	Other Government		1.5%	Native Hawa	aii/Pac.Isl.	0.2%	0.1%	
75 - 84	1.3%	5.7%	Commercial or Priva	ate Insurance	26.9%	White		89.2%	89.8%	
85 & Over	0.0%	0.0%	Self-Pay		7.5%	Multiracial		0.0%	0.0%	
			Other or Unknown I	nsurance	0.0%	Declined		0.0%	0.0%	
			APR-I	DRG Specific D	ata	Unavailable		0.0%	0.0%	
					verage Length of St	ay	Average C	harge per Discl	harge	
			Number of	This	All Wisconsin		This	All Wisconsir	۱	
APR-DRG # and Desc	cription		Discharges	Facility	PSYCH	Ratio	Facility	PSYCH	Ratio	
750 Schizophrenia			159	14.1	10.2	1.38	\$13,927	\$21,562	0.65	
751 Psychoses			101	10.4	6.3	1.65	\$9,255	\$17,928	0.52	
753 Bipolar Disorder	ſS		142	9.8	6.4	1.53	\$9,950	\$17,283	0.58	
754 Depression			58	4.2	4.4	0.95	\$4,808	\$13,066	0.37	
755 Neuroses Other	Than Depression		18	3.9	5.2	0.75	\$4,682	\$13,966	0.34	
756 Acute Adjust Re	act Psychosocial Dysf	unction	13	5.8	5.5	1.05	\$6,939	\$15,743	0.44	
758 Behavioral disor	rders		*	*	6.3	*	*	\$16,728	*	
759 Eating Disorders	S		0	N/A	19.7	N/A	*	\$61,433	N/A	
760 Other Mental Dis	sorders		*	*	16.0	*	*	\$51,550	*	
770 Substance Abus	se/Dependence, Left Ag	gainst Medical	Advice 0	N/A	2.0	N/A	*	\$6,582	N/A	
			10		1.0	4.00	#0.00 5	<i>Ф</i> (1, 1, 0, 1)	0.40	

775 Alcohol Abuse/Dependence

773 Opioid Abuse/Dependence

774 Cocaine Abuse/Dependence

N/A - Zero Discharges reported

15 * 1 through 4 Discharges reported

12

*

4.2

4.3

3.8

1.38

1.34

*

5.8

5.1

*

\$14,104

\$13,745

\$12,243

0.48

0.45

*

\$6,825

\$5,549

*

144 North Centra 1100 Lakeview Dr							Hosp	oital Type: PSYCI	Н	
Wausau, WI 5440	3						·	County: Marath		
715-848-4600							Anal	ysis Area: 6-Nor		
Overall Hospital	Utilization							Patient Discha	rge Status	
Total Discharges:		1,009	Average Le	ength of Stay (days):		4.5	<u>Discharge S</u>	<u>Status</u>	<u>% D</u>	ischarges
Total Patient Days	:	4,576	Average C	harge per Discharge:		\$6,667	Home or Se			86.8%
Psychiatric Utiliz	<u>ation</u>						Other GMS	Hospital ess Hospital (CAH)		3.4%
Discharges:		843	Percent of	All Discharges:		83.5%	Skilled Nurs			0.0% 0.0%
Patient Days:		3,996		All Patient Days:		87.3%		e Care Facility		0.0%
-		0,000		······································		01.070		habilitation Facility		0.2%
AODA Utilization							Hospice			0.0%
Discharges:		154		All Discharges:		15.3%	Other Institu			0.0%
Patient Days:		534	Percent of	All Patient Days:		11.7%	Home Healt			1.1%
	Age Distribution			<u>s</u>	ex Distribution		-	Medical Advice		2.0%
Age Group % Discharges % Patient Days				Sex	% Discharges	% Patient Days	Expired	ran to Court/Law E	nforcmnt	0.0%
Under 15	11.1%		11.8%	Male	44.5%	44.8%	Other		moronnit	1.5% 4.3%
15 - 19	17.7%		17.2%	Female	54.8%	54.2%		Race Dist	ribution	1.070
20 - 24	9.4%		11.6%	Expected	Pay Source Dis	tribution	Race	% Dis	charges % Pat	tient Days
25 - 34	20.0%		18.2%							
35 - 44 45 - 54	18.9% 10.6%		18.2% 11.7%	<u>Primary Payer</u> Medicare		<u>% Discharges</u>	Amer.Ind/Al	askan Native	1.7% 3.2%	1.6% 4.0%
45 - 54 55 - 64	8.7%		7.3%	Medicaid/BadgerC	are	12.5% 53.9%	Black/Africa	n Amer	3.7%	3.8%
65 - 74	2.8%		3.5%	Other Government		0.5%	Native Hawa		0.3%	0.2%
75 - 84	0.6%		0.5%	Commercial or Priv	vate Insurance	18.0%	White		76.8%	76.6%
85 & Over	0.1%		0.0%	Self-Pay		7.8%	Multiracial		0.0%	0.0%
				Other or Unknown	Insurance	7.2%			9.6%	9.5%
					-DRG Specific I)ata	Unavailable		4.8%	4.4%
						Verage Length of S	Stay	Average C	harge per Disch	arge
				Number of	This	All Wisconsin	-	This	All Wisconsin	
APR-DRG # and De	escription			Discharges	Facility	PSYCH	Ratio	Facility	PSYCH	Ratio
750 Schizophrenia	à			72	7.8	10.2	0.76	\$11,486	\$21,562	0.53
751 Psychoses				301	4.8	6.3	0.76	\$7,008	\$17,928	0.39
753 Bipolar Disord	lers			93	6.1	6.4	0.95	\$8,573	\$17,283	0.50
754 Depression				180	3.3	4.4	0.75	\$4,956	\$13,066	0.38
755 Neuroses Oth	er Than Depression	1		91	4.0	5.2	0.77	\$5,883	\$13,966	0.42
756 Acute Adjust F	React Psychosocial	Dysfun	ction	56	4.4	5.5	0.80	\$6,441	\$15,743	0.41
758 Behavioral dis				19	4.5	6.3	0.71	\$6,599	\$16,728	0.39
759 Eating Disord				0	N/A	19.7	N/A	*	\$61,433	N/A
760 Other Mental				*	*	16.0	*	*	\$51,550	*
	use/Dependence, L	eft Aga	inst Medical	Advice *	*	2.0	*	*	\$6,582	*
773 Opioid Abuse				*	*	4.2	*	*	\$14,104	*
774 Cocaine Abus	-			*	*	4.3	*	*	\$13,745	*
775 Alcohol Abuse	e/Dependence			80	2.6	3.8	0.68	\$3,770	\$12,243	0.31

149 Aurora Psychia	atric Hospital								
1220 Dewey Avenu	е					Hosp	oital Type: PSYC	Н	
Wauwatosa, WI 532	213						County: Milwau	ıkee	
414-454-6600						Anal	ysis Area: 2B-Mi	lwaukee Cou	nty
Overall Hospital Ut	ilization						Patient Discha	rge Status	
Total Discharges:	5,665	Average Ler	ngth of Stay (days):		4.1	<u>Discharge S</u>	<u>tatus</u>	<u>%</u>	Discharges
Total Patient Days:	23,228	Average Ch	arge per Discharge:	\$	516,935	Home or Se	-		90.6%
Psychiatric Utilizat	<u>ion</u>					Other GMS	Hospital ss Hospital (CAH)		1.5% 0.0%
Discharges:	4,401	Percent of A	II Discharges:		77.7%	Skilled Nurs			0.0%
Patient Days:	19,224		Il Patient Days:		82.8%		Care Facility		0.0%
AODA Utilization			-			•	habilitation Facility		1.1%
AODA Utilization						Hospice			0.0%
Discharges:	1,215		II Discharges:		21.4%	Other Institu			0.0%
Patient Days:	3,797	Percent of A	Il Patient Days:		16.3%	Home Healt			0.0%
<u>A</u>	ge Distribution		<u>Se</u>	<u>x Distribution</u>		-	Medical Advice		6.3% 0.0%
Age Group	<u>% Discharges % Pa</u>	<u>atient Days</u>	<u>Sex</u>	<u>% Discharges</u>	<u>% Patient Days</u>	Expired Discharge/T	ran to Court/Law E	nforcmnt	0.0%
Under 15	12.9%	12.1%	Male	51.4%	50.0%	Other		moronint	0.0%
15 - 19	14.1%	13.8%	Female	48.6%	50.0%		Race Dist	<u>ribution</u>	0.170
20 - 24	10.1%	10.2%	Expected P	ay Source Dis	tribution	Race	% Dis	charges % F	Patient Days
25 - 34	20.4%	18.5%							
35 - 44 45 - 54	17.6% 12.9%	17.7% 13.4%	<u>Primary Payer</u> Medicare		<u>% Discharges</u>	Amer.ind/Ala Asian	askan Native	0.9% 0.9%	1.0% 1.1%
45 - 54 55 - 64	9.2%	10.2%	Medicaid/BadgerCa		12.2% 55.0%	Black/Africa	n Amor	0.9% 26.3%	27.3%
65 - 74	2.4%	3.6%	Other Government		1.3%	Native Hawa		0.4%	0.5%
75 - 84	0.3%	0.4%	Commercial or Priva	te Insurance	30.0%	White	an/1 ac.151.	68.9%	67.6%
85 & Over	0.0%	0.0%	Self-Pay		1.4%	Multiracial		2.2%	2.1%
			Other or Unknown Ir	nsurance	0.0%	Declined		0.4%	0.4%
						Unavailable		0.0%	0.0%
			APR-E	ORG Specific D					
				4	Verage Length of S	tay	Average C	harge per Dis	charge
			Number of	This	All Wisconsin	Ratio	This	All Wiscons	in Ratio
APR-DRG # and Des	cription		Discharges 446	Facility	PSYCH		Facility	PSYCH	
750 Schizophrenia				6.1 4.2	10.2 6.3	0.60	\$25,273	\$21,562	
751 Psychoses	r 0		1,749	4.2	6.4	0.67	\$17,089	\$17,928	
753 Bipolar Disorder	rs		1,258 720	4.5		0.70	\$18,643 \$15,507	\$17,283	
754 Depression	Then Dennesian				4.4	0.86	\$15,507	\$13,066	
755 Neuroses Other	•	ti	104	3.5	5.2	0.67	\$13,969	\$13,966	
•	eact Psychosocial Dysfu	nction	47	3.6	5.5	0.65	\$14,352	\$15,743	
758 Behavioral diso			30	3.9	6.3	0.62	\$15,873	\$16,728	
759 Eating Disorder			0	N/A	19.7	N/A	¢45.000	\$61,433	
760 Other Mental Di			7 dvice 02	3.9	16.0	0.24	\$15,262	\$51,550	
	se/Dependence, Left Aga	ainst Medical A		1.6	2.0	0.80	\$6,873	\$6,582	
773 Opioid Abuse/D			304	3.4	4.2	0.81	\$14,662	\$14,104	
774 Cocaine Abuse/			129	3.4	4.3	0.79	\$14,150	\$13,745	1.03

775 Alcohol Abuse/Dependence

667 * 1 through 4 Discharges reported 3.1

0.82

\$13,166

\$12,243

1.08

11101 W Lincoln Ave)					Hosp	oital Type: PSYCH	4		
West Allis, WI 53227							County: Milwau	kee		
414-327-3000					waukee Coun	aukee County				
Overall Hospital Utili	ization						Patient Discha	rge Status		
Total Discharges:	3,823	Average Leng	gth of Stay (days):		5.6	Discharge S	tatus_	<u>%</u> [Discharges	
Total Patient Days:	21,324	Average Cha	rge per Discharge:	\$	518,280	Home or Sel			92.3%	
Psychiatric Utilizatio	on					Other GMS			0.0%	
Discharges:		Percent of All	Discharges.		68.5%	Skilled Nursi	ss Hospital (CAH)		0.0% 0.0%	
Patient Days:	16,663		Patient Days:		78.1%		Care Facility		0.0%	
-	10,000		r adolit Bayo.		70.170		habilitation Facility		0.0%	
AODA Utilization						Hospice	,		0.0%	
Discharges:	1,204	Percent of All	Discharges:		31.5%	Other Institu	tion		0.0%	
Patient Days:	4,653	Percent of All	Patient Days:		21.8%	Home Healt	n Service		0.0%	
Aa	e Distribution		Sex	Distribution		Left Against	Medical Advice		6.1%	
Age Group		tient Days		% Discharges	% Patient Days	Expired				
Under 15	11.3%	16.4%	Male	50.0%	47.0%		ran to Court/Law Ei	nforcmnt	0.0%	
15 - 19	15.7%	19.4%	Female	50.0%	53.0%	Other	Race Distr	ibution	1.6%	
20 - 24	11.6%	10.9%					Nace Disti			
25 - 34	23.0%	19.0%	Expected Pa	y Source Dis	tribution	<u>Race</u>	<u>% Disc</u>	<u>charges</u> <u>% Pa</u>	atient Days	
35 - 44	18.1%	15.1%	Primary Payer		% Discharges	Amer.Ind/Ala	askan Native	0.9%	0.9%	
45 - 54	10.9%	9.3%	Medicare		11.9%	Asian		0.9%	1.0%	
55 - 64	7.8%	7.8%	Medicaid/BadgerCare	e	50.7%	Black/Africa		13.3%	13.4%	
65 - 74	1.5%	1.6%	Other Government		0.3%	Native Hawa	aii/Pac.Isl.	0.4%	0.4%	
75 - 84	0.2%	0.4%	Commercial or Privat	e Insurance	36.0%	White		72.2%	71.5%	
85 & Over	0.0%	0.1%	Self-Pay		0.9%	Multiracial		1.9%	2.2%	
			Other or Unknown Ins	surance	0.2%	Declined		2.9%	3.2%	
				RG Specific I	Data	Unavailable		7.4%	7.5%	
					Average Length of St	tav	Average C	harge per Disc	harge	
			Number of	This	All Wisconsin		This	All Wisconsir	-	
APR-DRG # and Descri	iption		Discharges	Facility	PSYCH	Ratio	Facility	PSYCH	Ratio	
750 Schizophrenia	·		228	6.3	10.2	0.62	\$21,035	\$21,562	0.98	
751 Psychoses			1,325	6.2	6.3	0.98	\$20,070	\$17,928	1.12	
753 Bipolar Disorders			678	6.8	6.4	1.06	\$22,559	\$17,283	1.31	
754 Depression			147	6.0	4.4	1.36	\$19,476	\$13,066	1.49	
755 Neuroses Other T	han Depression		52	4.8	5.2	0.92	\$15,740	\$13,966	1.13	
	ct Psychosocial Dysfun	ction	95	7.1	5.5	1.29	\$23,265	\$15,743	1.48	
758 Behavioral disord			56	7.1	6.3	1.13	\$23,064	\$16,728	1.38	
759 Eating Disorders			*	*	19.7	*	*	\$61,433	*	
760 Other Mental Disc	orders		6	7.7	16.0	0.48	\$24,708	\$51,550	0.48	
	/Dependence, Left Aga	inst Medical Ad		2.0	2.0	1.00	\$6,552	\$6,582	1.00	
773 Opioid Abuse/Dep			537	4.0	4.2	0.95	\$13,349	\$14,104	0.95	
774 Cocaine Abuse/D			74	4.8	4.3	1.12	\$15,690	\$13,745	1.14	
	• .							, ,		

775 Alcohol Abuse/Dependence N/A - Zero Discharges reported 418
* 1 through 4 Discharges reported

4.0

3.8

1.05

\$13,274

\$12,243